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Solve the differential equation  3"+2y +5y=1.25¢"" +40cos4x—55sin4x
7(0)=02, y'(0)=60.1. [93 {*E[FFF20%]

Solve y"+5y'+6y=3e> +e". [94 ’F"[“\éf ST 10%)

Solve y"+y=(x—1)cosx, y(0)=y"(0)=1. [94 7 HIFEHT 15%]

Solve 6)"—11y'+3y=12¢™ +3x* +5x. [91 j:%ilﬁ,j}}—_f’fl’? 12%]
Solve y"+7y'=4xe* +3sinx. [90 %7 E[Fr6%]

Solve y"+3y'—4y=10e"—6.8sinx. [91 ﬁ?ﬁlﬁ%ﬁ%’?lo%]
Solve y"+4y=8xe ™ +4x*+2x. [87 %?:[%@‘ﬁ?m%]
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(a) Ax’+Bx*+Cx+ E+Fe*

(b) Ax*+Bx+C+Ee™

(¢c) Ax*+Bx+C+ Exe™

(d) Ax*+Bx+C+Ex’e™

(e) Ax*+Bx+C+Ee” + Fxe™ [87 /F’ﬁ\?:ﬁi\%@? 5%]

y'—4y' +4y=3t" +5te” +tcost, find a suitable form for particular solution if methos of
undetermined coefficients is to be used. [90 | Ip [3’@1 Fr10% ]

.Solve y"+2y =2x+5-¢". [91 & F1HR[F10%]

I Yy~ 2y y = 3x° —de’ B+ E iy, T
(a) Ax*+Bx+C+De"

(b) Ax’ + Bx’+Cx+ De"

(c) Ax'+ Bx’+Cx* + De*

(d) Ax*+ Bx+C + Dxe’

(e) Ax’+Bx+C+Dx’e" [90 ’F"[J‘\fF"EEEI’?S%]

.The differential equation y"+9y=4+5sinh3x with initial conditions y(0)=0,

V' (0) =2.

(a) Find the harmonic solution.

(b) Please use method of undetermined coefficient to find the particular solution. (Note:
3x —3x

sinh3x=5"% )
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(c) Inserting initial conditions to find the particular solution. [91 &+ 4 57+ 20%]




13.Solve y"+2y'+y=-3e*+8x’¢*+9. [91 I TR 20%]

14. Solve y"—y=4e*-2xe*+10cos2x. [92 @\*”qu*['ﬁfl’? 5%]

15. Solve y"+4y'+4y =2x+3xe™ +6. [90 [[IRZET A7 30%]






